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Lösungsschlüssel Modell-Test 
 

KDE_Modell-Test 
  

Hören 

 
Aufgabe 1 
1 Falsch 
2 Richtig 
3 Richtig 
4 Falsch 
 
Aufgabe 2 
1 Falsch 
2 Richtig 
3 Falsch 
 
Aufgabe 3 
1 Falsch 
2 Richtig 
3 Richtig 
 
Aufgabe 4 
1 Falsch 
2 Richtig 
3 Richtig 
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KDE_Modell-Test 
  

Lesen 

 
Aufgabe 1 
1 <> 2 
2 <> 1 
3 <> 2 
4 <> 3 
5 <> 1 
6 <> 2 
7 <> 3 
 
Aufgabe 2 
1 <> 1 
2 <> 2 
3 <> 1 
4 <> 1 
5 <> 2 
6 <> 3 
 
Aufgabe 3 
1 <> D 
2 <> F 
3 <> B 
4 <> C 
5 <> H 
 
Aufgabe 4 
1 <> Nein 
2 <> Nein 
3 <> Nein 
4 <> Ja 
5 <> Ja 
 

 
 

 
 
 


